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(A) V8 (B) 7 (@) 5 (D) V0.2
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(A) (9x +4)(9x —4) (B) (9x +2)(9x — 2)
(C) Bx+2)3x—2) (D) Bx+4)(3x—4)

3. () TAlPEP ERx? +5x 3750 2 [3%pll9]
(A) x+3 (B) 2x+1
(C) 2x—-1 (D) 2x?+5x—3
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g F50 9 [¥ p40]
(A) x (B) 2x -1
(O x(2x —1) (D) (2x —1)?
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(A) VB # V7B B 2L |2
(C) V0.8 ¥ 8 (D) V18 & 8
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(A) x> —x =24 x—2en3 0
(B) x2 —x — 2% x + 1e1F] 50
(C) x—25x2—x -2z 30
(D) x+15x%2—x—2eniz 0
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(A) 3W2-2=+2 (B) V18 =15 =+/3
(CO) V3+V7=v10 (D) V8++2=3v2
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BEAZAVHEISNER LW ? [+ p99]
(M 17T  B)25 (O 31 (D) V527

9. () TAlPE A3 VB s ? [+ p83]
wWE BT o o

10.( )ir 5 6x2 —x — 1570 A frenst % 2 [ pl4d]

(A) (6x—5)(x+3)
(O 2x+3)(3x—=15)

(B) 2x—-3)(3x+5)
(D) (6x+5)(x—3)
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crdis i Fo R T Akt ey e ? [V pds])
(A) a+b+c=-6 (B) c=1
(C©O) b=7 (D) a=-
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(A) 95 xism (B) F 3 %
(C) 2+ 3msh 35 (D) 2 + 381 7
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(D \/—x\/_=[ (- 1 [¥ p24]
(2) \/_+x/_—\/_2=[ (1-2) 7J- [ p26]
(3)— [ a-3 1 [ p27]

2. FIFN AT s g S
(D 2x=3*+@B-20)=[ (@1 ]- [ p147]
(2) 4x>+12x+9=[ (2-2) ]- [ pdl]
3) x2-5x—-6=[ (2-3) ]- [ p138]
(4) 3x2+15x+18=[ (2-4) ]- [% p45]

3. 4@ » £ 3 25ABCD¥ > AB=15~BC=20" B
(H)BD=[ 31 ]

(2) AE=[ (3-2) 1- [ p99+p100]
A D
E
B C

A 8 & ]



4.2 dr— B AZ 20 @A 5 6100 R 2 &350
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CFERM (R 12A) [ KB iEa]
¢ oL e +A4-3)B(1-0)~C(4° —3)= 2> RBl:
(D EAB “BC *AChE R A ® 5% 55 2(34)
(2)3#3L. AABCS 6= 4752 (34)
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(x+a)(x+b)> a by i FH> FFEmaEvy i i@ 7
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